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HSSC CET Group 57 Question

The Kandla port is lpcated in the
state of

(A) West Bengal
(C) Odisha
(E) Not attempted

(B) Maharastra
(D) Gujarat

What is a graphinC?
(A) A visual representation of data
(B) A collection of nodes

"::El

-

& E

(C) A mathematical formula
(D) A programming language
(E) Not attempted

Mohinder ploughs a field in 6 days and
Ram ploughs the same field in 12 days.
How long both of them take to plough
the same field working together ?

(A) 4 days

(B) 5 days

(C) 3 days

{D) 3.5 days

(E) Not attempted

Which body started first radio
broadcasting in India in 1923 ?
(A) Radio Club of Bombay

(B) Radio Club of Madras

{C) Radio Club of Kolkata

(D) Radio Club of Delhi

(E) Not attempted

This pressure belt is also called as
‘Horse Latitudes’

(A) Sub-tropical high pressure belt
(B] Equatorial low pressure belt

(C) Polar high pressure belt

(D) Sub-polar low pressure belt

(E] Not attempted

Paper 18 Aug 2024 CG - CHS24

1. THisen @R Fr r=m 8 fRm 2 o

(A) TRm ETE (B) TERY
(C) FfEm ‘AD) T
(E) amafia
2, CHUF FMETR ?
_4A) 2@ @ e wee
(B) AIgH =1 IR
(C) Tifora =1 H
(D) Tk ST
(E) arsfeaa
3. Hiffex % @d H1 6 fea # Siaan 2 3R TH

34t @ Y 12 o7 1 Saen & | gl faee

m@aaﬁaﬁﬂ?fﬁﬁmﬂrwéﬁ% ?
AA) 4 fem ,ﬁ,.:,.%

B) 5 fe s

(c) 3

(D) 3.5 &

(E) 35

1923 1 Wi § T edt et wawor fiee

Ten 3 y& fomar on ¢

(A) UeT e 37T% @fE -
Eiﬂlmmmm

‘E}s’wﬁf’gﬁﬁamﬁm

(D) feat =" a1 foeht

(E) 3w

5. T W & F NG ey off wwr w2
A ITTERfeE T 3 qarg G A
(B) *eA T 7 zama At &

(C) ¥ 3=v T@mE =t &y
(D) I9-Gf1a oy g et A
(E) Irvafia

|t A

i
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10.

Which of the following is the name of
Brahmaputra river in Tibet ?

(B) Tsang Po
(D) Sundari

(A) Jamuna
(C) Sonaa
(E) Not attempted

Which keyword is used to define a
tagged structure in C ?

(A) struct

(B) typedef

(C) union

(D) enum

(E) Not attempted

Hawa Singh won the Asian Games
gold medal in consecutive editions of
the games in the 1966 and 1970 for
which of the following games ?

(A) Weight lifting (B) Boxing
(C) Running (D) Badminton
(E) Not attempted

What is Project Haryali ?

(A) Drip Irrigation Project

(B) Watershed Development Project
(C) Forest Cover Improvement Project
(D) Western Ghat Protection Project
(E) Not attempted

A train 375 m long takes 30 seconds
to cross a pole. Find the speed of the
train in kilometer per hour.

(A) 45 km/hr

(B) 44 km/hr

(C) 46 km /hr %g
(D) None of these ko
(E) Not attempted

6.

7.

EFE

10.

L 45 Tt /ga

CG - CHS24

foreara # srarga 74 &1 AT Frefafan o 4
FH-|TE ?

(A) THAT I',fB/] AT A1

(C) | (D) "l

(E)

c i 2 i w8 wae ® ufonfi w=E E
foru g Frad &1 A fEm S 2 7

L{AJ struct

(B) typedef

(C) union

(D) enum

(E) SAwaiéa

7 g 3 Paafafiga @ @ fem @@ 4 1966
3 1970 & wfi Gl # TfiEE O
Tl gge Star 7

(A) WREeR W) gerear

(c) gz (D) F=fies

(E) AwTa

geaTelt g = @ ?

(A) Teu fémmg afedism

(B) arewrs faemma fwis
€] T FTER YR TRErs
(D) gt =g e i@
(E) 3rwanfam

375 Hier el T EEl U @Y & Ui

H0 1§ 30 B =1 999 wdt € | tendt )

s fereinder fa w2 & s ks |
ﬁing

(B) 44 fortft /o 'ag

(C) 46 Tt /aa

(D) ¥H & Fr§ Tl

(E) 3mwaifaa
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11.

12.

13.

14.

15.

withonet
A number scries n to

is given. Choose the correct optio
complete the series.

20, 19, 17,7, 10, 5

(A) 12

(B) 13

(C)] 14

(D) 15

(E) Not attempted

Which of the following is known as
‘Fruit Bowl' of India ?

(A) Madhya Pradesh
(B) Uttar Pradesh

(C) Himachal Pradesh
(D) Orissa

(E) Not attempted &0

=157 =
If the letters of the word
BOMBARDMENT are arranged in

alphabetical order, then how many
letters will remain in the same

position ?
(A) O (B) 3
(C) 2 D) 1

(E) Not attempted

National Botanical Research Institute
is located at

(A) New Delhi

(B) Bangalore

(C) Chennai

(D) Lucknow

(E) Not attempted

Which of the following is a logical
bitwise operator ?

(A) *
(©) &

(B) /
(D) +

CG - CHS24

v we gaEen § &, i v
a9 8, ojEen B g0 F F fom mh
ﬁmgﬁqu—‘ =i
20, 19, 17, ?, 10, 5
(A) 12

(B) 13

ue) 14

(D) 15

(E) Frwaifia

12, Frfeafiga § @ f6d wra &1 ‘Sl =
FAU' R AT B ?
(A) AET w2
(B) IW e
4€) Temrae wem
(D) 3FrEn
(E) 3mantaa

ABRLOEMM g nr
13. #fe M55 BOMBARDMENT ¥ 31z &)

qUiisha 3 T S dt e 7R w1 g
JUTEd @ ?
(A) O
(C) 2

(E) FAganfia

14. TR FFefy sgEuE deam fm 2
A T et
(B) dein
(C) o=§
(D) @IS s
(E) st s
| e
15. =1 % & F-mr wifera feams
a HRA & 7 .
ﬁa A} » - B /
Of40] D) +

"(C) &

11.

(B) 3

D) 1

(E) Not attempted

(E) 3r5ifga
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16.

17.

18.

19.

20.

The angle of depression of an object
from a tower of height 150 m is 30°. The
distance of the object from tower is

(A) 5043m
(B) 1003m
(C) 150+/3m

(D) None of these
(E) Not attempted

What percentage of rural consumer’s
income is spent on groceries ?

(A) 10%
(B) 45%
(C) 62%
(D) 27%
(E) Not attempted

Which of the following company is
launched Shagun-Gift an insurance
policy ?

(A) LIC

(B) ICICI Life Insurance

(C) SBI General Insurance

(D) TATA General Insurance

(E) Not attempted

Complete the following series.
BV, CU, ES, HP, LL, QG,

(A) VB (B) WB

(C) WA (D} VC 4 “E!
(E) Not attempted EE

What does TTL stands for ?

(A) Transistor Timing Logic
(B) Transistor-Tuned Logic

(C) Transistor-Transistor Level

4] Transistor-Transistor Logic

(E) Not attempted

CG - CHS24

16. 150 ¥z AT Al UF T A T T Hl
S H 30° R | AR 75 A g
w87
(A) 50+/3 i

=@ (B) 10043 HX

Gl (C) 15043 Hi
(D) 5T & FIS TE
(E) svariad

17. wdor Iasirar <h1 33 & A wihea
Fr % T W @ Bl R 7
(A) 10%
(B) 45%
(C) 62%
uo) 27%
(E) 3Tonfed

18, Frerfafian & & fr F0 3 Tm-fie
o wifere it 1 2 7

_{AT LIC
(B) ICICI TTE% 9aIH
(C) SBI S
(D) TATA St $¥AILH
(E) 3rwanfaa
19, Fr=fefga Seen o = |
BV, CU, ES, HP, LL, QG, W
(A) VB (B) WB
e WA (D) VC
(E) e

20. FETH FF Y § 7
(A) Ziferee zsfim =it
(B) Zifr=t-=e =it
(C) gz ade
) izt |itas
(E) 3Twfaa
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21. A series has been given. Choose the
correct option for missing term to
complete the series.

KMS, 1P8, GS11, EV14, ?

(A) BX17 (B) BY17

(C) CY18 (D) CY17 %gl
(E} Not attempted B E

22. What is the maximum validity of
Learners Licence in India ?

(A) 6 Months

(B) 3 Months

(C) 1 Year

(D) None of the above

(E) Not attempted
23. Three vertices of a parallelogram are
(1, 3), (2, 0) and (5, 1). Its fourth vertex is
(A) (3, 3) (B) (4, 4)
(C) 4,0 (D) (0, -4)
(E) Not attempted

24. Which of the following is concerned
with the quantum and frequency of
income receipt of rural people ?

(A) Product Mix

(B) Distribution Mix

(C) Promotion Mix

(D) Price Mix

(E) Not attempted

25. If a man were to sell his hand cart for
¥ 720, he would loss 25%. What must
be the selling price if he were to gain
25% ?

(A) T 1,000

(C) T 1,300

(E) Not attempted

(B) T 1,200
(D) % 1,400

CG—CHEQQ

21. W’iﬁﬁi?ﬁ"ﬁ%l’jﬁmﬁ’{nmﬁ%

&‘Qqqqﬁﬁifﬁqﬂﬁfﬂ‘ﬁmqhn|

KMS, IP8, GS11, EV14, pC Y17

(A) BX17 (B) BY17

(C) cY18 D) CY17

(E) 31w
22. A A T wrgdy o afirmay A

MR 7

AT 6 TER

(B) 3 7éH

(C) 19

(D) 394 # & rg 74

(E) 3t

23. TF wural Iqd+ % ofF o (1, 3), (2, o)
3R (5, 1) ¥ | 5w e oid T 2 2

=@ (A) (3,3) (B) (4, 4)
i © (4.0) (D) (0, -4)
(E) FwanfeE

24, Trfafaa 4 @ =59 mmfiv i 6 am
et <1 W 3 gl | wafra 7

(A) Fearg Tz
BT faaro fazm
(C) W= fizoy
(D) T3 forzpor -
(E) 3T
25. 3fg v =afda g den T 720 % 39 A W
25% 1 7l grft | afe 3§ 25% &1 @™
B ot fosra weg @ Bt 2
(A) T 1,000 UBFT 1,200 N
(C) ¥ 1,300 (D) ¥ 1,400
(E) arwarfad quo 5
280 xW5_ 200
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27.

28.

29.

_ The first newspaper in India

was introduced by the name

CG - CHS24

26. mﬁmmqﬂﬁmmﬁ:@

fopa T o 7
(A) Kesari (A) Fah
(B) Samachar Darpan (B) THTETC Zam
(C) The Bengal Gazette %‘ & LU RIET
(D) Bombay Chronicle E2 (D) ATER e
(E) Not attempted (E) 3t
What are the factors influencing Rural | 27 rfter Tl STEER B wwiferd a1
consumer Behavior ? HEFTE ?
(A) Environmental Factors (A) g 1
(B) Psychological Factors (B) TATETIR FHh
(C) Cultural Factors (C) Eihideh HH
(D) All of the above BT IudE Tl
(E) Not attempted (E) Irsafaa
Which of the followingis direct selection | 28, CH Prfafigs 0 4 #F s faewmA
operator in C ? AT R ?
(A) dot(. (a) =Te()
(B) commal,) (B) =H1HI(,)
(C) colon(:) (C) =ieH(:)
{B] semicolon(;) E::E-l (D) SefthIe(;)
(E) Not attempted =l (E) 3Twanfaa

In a certain code, RAIN is written as
8 $ % 6 and MORE is written as

7 # 8 @. How is REMAIN written in
that code 7

A) #@7$%6
B) #@ & $ % 6
C)7T@#$%6
D)8@7%$%6

(E} Not attempted

20. UF faftr Frs 1 RAIN F1 8 § % 6 feran
s & 3 MORE ® 7 # 8 @ foran
T % | 39 H1E § REMAIN #1 8
foran smom 2
A) #@7$ %6
B #¥@ & $ %6
C)7T@#$%6

LB 8@7$%6
(E) Fgnfia
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30,

31.

32,

33.

34.

Rajasthan hasits High Court (principal
scat) at

(A) Jodhpur

(B] Udaipur

(C) Jaiselmer

(D) None of the above
(E] Not attempted

Which is the capital city of Manipur ?
(A) Shillong (B) Imphal

(C) Silvassa (D) Kavaratti

(E) Not attempted

What is recursion in computer

programming ?

(A) A loop that repeats a block of
code until a condition is met

(B) A function that calls itself

(C) A process of breaking down
a problem into smaller
subproblems

(D) A way to optimize code for faster
execution

(E) Not attempted

Pick the odd one out.
(A) Just (B) Fair

(C) Equitable (D) Biased EfE
Elé%

(E) Not attempted
The discriminant of the quadratic
equation 2x? - 6x - 3 = 0 is

(A) 60

(B) V60 ek
(C) 12 o~
(D) V12

(E) Not attempted

CG-CHEzg

30. vmmmmm(mmz}mh

LAAT ST

(B) IeaqX

(C) Jreemn

(D) I & & #id T

(E) 3ryanfaa
31. wfrg #1 TurEh et F-Tr 2 2

(A) Frem \ BT ¥

(C) Freamm (D) =Hamt

(E) sTvaifem
32. oy wmfim & ferds B 2

IS % T et B AR

EIAE (B) T F9 I @Wg &t Fiet e
E22 (€) & gwem # 9 Iu-mmeat 3

33.

34.

g =l ufspa
(D) Tft & frearen & fore e
IR F FT Uh Al
(E) 3twanfyg
firr g 9fm |
(A) =t 1 REEE

() =t by gamTH
(E) Fuanteq

feama wfiar 2x2 - 6x - 3 = 0 =1 Fyides
R 7
(A) 60
(B) V60
©) 12

(D) V12
(E) 3rvarfaa
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35.

37.

Kkunal walks 10 km towards north.
from there, he walks 6 km towards
south. Then, he walks 3 km towards
~ast. How far and in which direction is
ne with respect to the starting point ?
(A) 5 km, West

B S km, North East

(C) 7 km, East

D) 5 km, South West

(E) Not attempted

which of the followingis /are Marketing
Strategy available for Rural Market ?
(A] Promotion Strategies

(B} Product Strategies

(C) Price Strategies

(D) All of the abave

(E) Not attempted

According to the 2011 Census of India,
which of the following states has a
population density of 17 persons per

sq. km. ?
{A) Bihar
(B) Uttar Pradesh = LE
(C) Arunachal Pradesh .El'.: p

(D) Sikkim
(E] Not attempted

CG - CHS24

ﬂﬂdﬂ@ﬁﬁ%ﬂﬁﬂﬂ%ﬁﬁ

ar 3 3 et e A | smifirs
E4E

() 5 faft, ufam T

. (Bys feeft, 37

35, Wﬁﬁﬁlﬂmwﬂ i
ﬁg%ﬁiﬂﬁﬂﬁmﬂq#ﬂﬁmhﬂ
A |
(c) 7 fft, @

D) 5 e, aflm afem

37. WA #2011 F FTUET F HTEW,
fefafiga #§ B g =9 %1 FEET
wAea 17 =ataa ufa = fft 2 7
(a) fomm
(B) T w&u
(O FEIIEE Te
(D) faferm
(E) FuaTEa

Kalaam-e-Nairang is a compilation of | 38, FHam-u-30 g fae m wfamaA
poetry written by w1 HFeH B |
(A) Syed Ghulam Bhik (A) Fag e i
(B) Murari Lal Sharma (B) Huirere i
(C) Allama Muhammad Igbal CH ST HEHe SHETE
(D) Altaf Hussain Hali (D) ¥eaTH THA B
(E) Not attempted (E) It
.9. D
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39,

41.

42.

A sum of money doubles itsell in 4
years at compound interest. It will
amount to 8 times itself at the same

rate of interest is

(A) 18 vears = &=
B) 12 Vears ﬁ%
{C) 16 years
(D) 24 years

(E) Not attempted

Pointing towards a boy, Veena said,
he is the son of the only son of my

grandfather. How is the boy related to
Veena ?

[A) Uncle
(C) Father
(E) Not attempted

(B} Nephew
(D) Brother

In which year was the India’s First
National Park, the Hailey National
Park, established ?

(A) 1930 (B) 1932

(C) 1936 (D) 1939
(E) Not attempted

What is the necessary condition for a
deadlock to occur ?

(A) Mutual exclusion

(B) Hold and wait

(C) No preemption

(D) All of the above

(E) Not attempted

In which year Right to Information
[RTI) Act came into force ?

(A) 2004 (B) 2010

(D) 2009

(E) Not attempted

CG - CHS24

39, WWWWWtiﬂﬂﬂm
B e R T

T T
P & g Ay .
(A) 18 =d F=74
LA 12 el
(€C) 16 =4
(D) 24 o
(E) srwanfia
90. TF wEF A 3l s F qo A 3
FE, ' W T F AN X WA D
w5H dt A fem a & e 2
(A) =TT (B) wieftsm
(©) Far Dy wré
(E) 3w
41. MRd F TEA T IGqH, B U 39w
e 74 Tufim fr mar o 7
LA 1930 EBy 1932
(C) 1936 (D} 1939
(E) =warfas
42, 7feiy (3zat®) afea 9 5 fow smaws
w7
(A) HEHT I
(B) ¥les Uz 4z
(C) i Hrur=
I Wi
Lgm
43. Wﬂﬁﬁm{mﬂ}g&lﬁmﬁm
Eﬁaﬂgm?
£33 (A) 2004 (B) 2010
ey 2005 (D) 2009
(E) SAwanEa

-10-
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47.

What is binary code ?

(A) A system of representing

CG - CHB24

44, wigalt wrE R 7

|A}W‘lnﬂﬁﬂﬂﬁﬂml{ﬂm

nformation using base-10 digits #1 gfafafu= 1 ) UE Tt
iB) A system of representing (B) q&I-16 ST 1 ITAT FH AT
 information using base- 16 digits Ej -t sfafafima F01 £ R T
(€) A system of represeniing @D o e @ 31 ¢« 0 3f 1 F1 ITAM
information using only two digits: e 1 T
0 and 1 q= sfaffie ~
: SoTTet
p| A system of representing
" nformation using alphabetic (D) =vtTE AT :w.u’m FHh AR
characters %1 wfafafires =t it v o]
() Not attempted (E) FwAEa
Manas Tiger Reserve is located in 4s. wrm zEm fod e
A) Uttar Pradesh (A) IR W&
B) Madhya Pradesh (B) &R T
(C) Assam ey #aq
(D] Kerala (D) &
(E) Not attempted (E) Avatad
Tickets numbered from 1 to 25 are | 46. 1% 95 A FHITR fehel &1 Th J1d e
mixed up together and a ticket is drawn fea = 2 3 us feme Agas w0 3
at random. What is the probability e AT R | T E 2 5 fam@ ™
that the ticket drawn contains a prime - .
- il
number ? ﬁﬁfwmmﬁ; 2
x = = ® o=
(A) 5 (B) 25 5 75
9 11
9 11 9. o) 1L
i Y —
(E} Not attempted (E) swartEa
Which function is used to open a 47. AN BIEA H @ier & fav e wEE
Bineeyiies %1 A fea s 2 7
il (A) fopen()
£ epecd (4B7 open()
I SEhel) e (©) fread()
|
(D) fwrite() [= (D) fwrite()
(E) Not attempted (E) swanfaa
-11- D
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48.

49.

50.

52.

(ZC}-{ZliEHZq
The chromatin that is T‘I‘!ﬂ!“';‘ :::“:;{::':" 48, ag iﬁﬂﬁ‘q _-ﬂ wfrr w3 it 4 i RTH'[‘
packed and stains dark are ca e 3 MR M e _ wEE R
(A) Heterochromatin (A) ng{ma—[-a
(B] Euchromatic (B) ’-'ﬁ#ﬁ’rfazﬁ
(€C) Chromosomal protein ) W -;i-‘m—_‘
(D) Homochromatin D) BN
(E} Not attempted %ﬁﬁ.l (E) 3wnfag
oEES _
If 47 — 4% = 48 then n" is equal to 49. 7fe 40 _ 401 = 48, A n“mmﬂ?
(A) 3 (B) 8 &) 3 (B) 8 py-14 wy
(C) 27 (D) 1 C) 27 (D) 1
(E) Not attempted (E) 3ryaifas
Who was the founder of the Asiatic 50. ufirnfes Fﬁm F THTE F 9 7
society P (A) HT ®igg Qﬁ
|A) Sir Thomas Erle (_(Br ﬁf"quqq Eier
(B) Sir William Jones = .
(C) #1E 7oz #eq ~
(C) Lord Mount Batten
(D) Lord Charles Rose (D) FE =¥ T
(E) Not attempted (E) snrnfaq
Six people A, B, C, D, E and F are | 51. ﬁsw%a,a.c,n,ﬁ:aﬂurww
Ista.nd:i_ng in a circle facing the centre. B 4 %z 4 3 42 1% @2 § | B. D 3k
1: iLl:u: un_medaatfe nﬁ‘lgl'fbm.l:l' of D and C. c# f et 2 A, E 3K c 5
s the immediate neighbour of E and
C. F is to the right of D, ﬁmﬁmtlmn%m‘.aﬁ%l
Who is the immediate neighbour of A A 3R F %1 By T i } 7
and F ? A) B B) C
(A) B (B) C p +5
Epc €) D P E
IC) D (D) E duar
(E) Not attempted (E) trnfe R i
TlﬁslakeofHar_-,ranaisapartnfﬁsnla 52. %ﬁﬂm*m“ﬁﬂﬁﬁﬁ
Bhatti Wildlife Sanctuary IR F] TH 97T &
(A) Brahma Sarovar Lake (A) #EI T 3 -
(B) Karna Lake (B) = 3fter -
(C) Surajkund Lake €] qoss wHie
(D) Badkhal Lake (D) ¥2E@+ 3
(E) Not attempted (E) srwafis

-12-
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3.

58.

which type of register in a Central
Processing Unit (CPU) is responsible
for holding the current instruction
peing executed ?

(A) Program counter

: . ELE
(B [nstruction register - ) 3
(C) Memory address register

(D] All of the above

(E) Not attempted

A process of face to face interaction
hetween the salesperson and the
prospective customer is referred as
(A) Personal Selling

(B) Advertisement

(C) Consultative Selling

(D) Transactional Selling

(E) Not attempted

Which of the following is not a product
strategy in Rural Marketing 7

(A) Branding

(B) Packaging

(C) Pricing

(D) After Sales Services
(E) Not attempted

According to population census 2011,
what is the percentage of Literacy in
Haryana ?

(A) 75.6

(B) 78.6

(C) 80.5

(D) None of the.above

(E) Not attempted

-13-

CG - CHS24

sa. adum fim ) Foafz w0 ¥ fow i
rafim afiz () i Fm R
freran &1 2 7
(A) ST I
(B) ezavm fifaet
uﬁﬁﬁﬂ@ﬂfrﬁm
(D) ITH &

(E) ST

54, fran ai vt mEsh 6 e FTH-TH
st 1 w1 w1 A 7
(A) safFama fash
B) o=
ey e fesht
(D) SF-27 gadt fahl
(E) FwanEd

g5, v fague § Frefafea d & SR-H
IeqTe AT A8 8 7

56. 2011 FHIVET & IR BTN F HETT
%1 wfasra fan & 7

(ByT75.6
(B) 78.6

E8 © sos
ot

(D) I H H H13 TE
(E) 3T
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57.

58.

59.

61.

When do we celebrate International
Tiger Day ?

(A) June 29 (B) September 29
(C) July 29 (D) May 29

(E) Not attempted

Which of the following king wrote the
book ‘Amuktamalyada’ ?
(A) Akbar

CG - CHSu_.
87. & Hwig am fean Fa qary & 7
(A) 29 94 (B) 29 fodm
ey 29 e (D) 29 ué
(E) 3rrnfaa

58, ﬁ%ﬂﬁhw#‘w
e ford ot 2

(A) R
(B) Raja Raja Chola (B) T U =76
(C) Krishnadevaraya AC) FoTEaTE
(D) Chandragupta Mourya (D) Tnl‘ﬁf]'?r i
(E) Not attempted e (E) 3rwafeea
lo E]:: lo

If fix)= _R_g—#T: xilisconth&uuus 59. afg fix)= % xil-x=lmﬁﬁ?ﬂ

k ; x=1 k ; x=1
at x = 1, then the value of k is B kT O 2
(A) e (B) O (A) e (B) O
(o) (D) 1 (C) =1 (D) 1
(E) Not attempted (E)
What is the population density of | 60. 2011 %I F1VET % HIAR #fEw =i
Haryana as per the Census 2011 (in T g (wfa & fft o) fraar 2
per square km) ? (A) 786
(A) 786
& 48] 573
©) 625 (C) 625
(D) None of the above (D) -ﬂzjﬁ 78 1§ 7
(E) Not attempted (E) vt
Which of the following is considered | 61. MM famm & frmfafiga & & fod i
as challenges in Rural Marketing ? HET A2 7
(A) Rich Infrastructure AA] TS A g
(B) Poor Literacy Rate (B) @& HI&AT X
(C) Increase in availability of shops %ﬁ (C) I 1 Iqereea § afg
(D) None of the above @22 (D) 39 # & F1§ 78
(E) Not attempted (E) 3T
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63.

i

L]

3. Ankit started walking towards north.,
after walking 30 m, he turned towards
eft and walked 40 m. He then turned
eft and walked 30 m. He again turned
1eft and walked 50 m. How far is he

from his original position ?

(A) SO m
(B) 40 m

(=] £1[=]
(D) 10m

(E) Not attempted

What is the minimum age for becoming
2 member of Rajya Sabha ?

(A) 25 years

(B) 30 years

(C) 35 years

(D) 40 years

(E) Not attempted

Rural demand is generally
(4) Continuous and Regular
(B) Seasonal and Irregular
(C) Permanent and Irregular
(D) Sporadic and Regular

(E) Not attempted

What was the sex ratio (Female per
thousand male) of Haryana as per
2011 census ?

(A) 879

(B) 943

(C) 989

(D) None of the above

(E) Not attempted

CG - CHS24

2. 3ifa T I T AE F@ R
30 thex =@ ¥ g, 78 WA I AT R
o 40 Hret sreren 2 | foe 7w Al 3w
ggmiafﬂamﬂataﬁmtla';f'm

64. T W HW AR W R 7

._Waﬂtﬁ-ﬂﬁﬁ

(B) Hret 3 srfEfia
g (€) T 3 s
iil:: : (D) ﬁ}E"EZ fﬂhﬁ'ﬂﬁﬂ
(E) 3rEmEa

65. 2011 F1 FAMUAT F IR ELATN H
fenmeame (sf EeT gEe  AfRen) F=0a9 ?
|LIAT'879
(B) 943
(C) 989
(D) I § | H1E TE
(E) Antaa
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66.

67.

68.

69.

T1.

Which of the following is not a problem
in Rural Markets 7

{A) Low level of literacy
(B) Low per capita income

(C) Well developed market

E4E

Ef:l

(D) Logistic problems
(E) Not attempted

Who was the first Mughal ruler of
India ?

(A) Akbar

(B) Babur

(C) Humayun

(D) Shah-Jahan
[E) Not attempted

Approximate change in the volume V
of a cube of side x meters caused by
increasing the side by 3% is

(A) 0.09x%*m? (B) 0.03x’m?

(C) 0.06x*m? (D) 0.04x*m?

(E) Not attempted

Which among the following dance

form of Haryana marks the sowing of
the Rabi crop ?

(A} Ghoomar
(C) Lohri
(E) Not attempted

(B) Jhumar
(D) Loor

Ifa + 1, 3a, 4a + 2 are in Arithmetic
Progression, then the value of a’ is

(A) O (B) 2
C) 1 D) 3
(E) Not attempted

3 Li?
y ol

Where did the Morbi bridge tragedy
occur ?

(A) Kerala (B) Gujarat

(€) Uttarakhand (D) Uttar Pradesh
(E) Not attempted

HC) FER
(D) & -F&
(E) smmnfae
S T 3% WG W x . F 99 F A7
V § @ afads 2
(A) 0.09x'm” '4BJ 0.03x’m"

(C) 0.06xm® (D) 0.04x*m®
(E) 3rmafea

69. ﬁq{%{ﬁaﬂﬁﬁm%ﬁa{wﬂw
+1 w8 F1 917 I o 2 7

(A) T "B W
(C) =att (D) T
(E) A

70. ﬂﬁa+1,3&.4a+2m’:‘}“ﬁﬁﬁ.?ﬂ
‘a’ T HH 12 7

(A) O ~ )2
(© 1 ~ 3.2 3¢
(E) HAwETHEa
71. AR 9 EEw FE e 7
E4E (A) F LA4B] T
22 (C) IntEe (D) ¥ wam
(E) srwanfam
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N N

e TR 3 2 )
g - nh 3 L _‘ ‘ “ # - B c.D E. FW(\IF—F&
'.--I.;f-;rn people A, B, C, D, E, F and G are 2. #HE uﬂfaﬂ A SR ok § 12 62
1 :—.mndinn in a single line, facing phone qfas o w19 T * ﬂT‘F" : S
Looth. E is somewhere ahead of F. =4 3 & | C 3 ¢ % = H S o
There is exactly one person standing G @ 2| D, AF d e 2IF,B
petween € ﬂn?:'l G. D is immediately i & 2 sf32 7R D 3.ﬁ1( s
p. If D and C are fourth and fifth in fq 1 <9 3 qied I
line, respectively, then which of the # & F-a we B Hifau 7
fallmw.ngﬁmlzsl be true ? (A) A T E y
(A) A ‘.5 e (B) B 94H 2 e
B) B is first F w3 2 8 (r
() F is sixth AC) 2 5
(D) Fis seventh (D) F #e al 7 r
) Not attempted EEE (g) snnfaa
E!I
3. What is the per-capita income of 73, s wdEw 2023-24 (W FHIH) F
. Haryana (at constant price) as per the HEN tenieal ufa =afda aifds ==
Economic Survey 2023-24 (Advance (fem oo ) 27
Estimates) ?
0
A) T 1,04,550 (A) T 1,04,55
B ¥ 1,85,490 (B) ¥ 1,85,490
(c) T2,57,840 (C) T 2,57,840
(D] None of the above ( (DY I9dEa ° | FE TE
(E) Not attempted (E) wgafed
74. Forests department of Haryana runs | 74. af@mon &1 33 faam o diat ==
Pheasant Breeding Center in %‘E{ ATl % i
(A) Kurukshetra (B) Bhiwani (A) FEET (B) frar=
[C) Panchkula (D) Pinjore (C) "= L) T
(E) Not attempted (E) 3wafda
75. Which one of the following is not a | 75. Fm=fafEa 4 & s=-w1 unfior fagom fizm
Rural Marketing Mix ? Hﬁf% 7
) Product  (B) Promotion (A) & - 4B TER
i Fage (D) Package %&3 (©) e - (D) 5w
[E) Not attempted (E) FwEa
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76.

.

78.

The maximum area of 8 rectangle
inscribed in the circle

(x+ 1)+ (vy-3)'=64is
(A) 64 2q. units

iB) 72 sq. units

(C) 8 sq. units

(D) 128 sq. units

(E) Not attempted

Which of the following state introduced
‘Chirayu Health Insurance’ Scheme
in India ?

(A) Uttar Pradesh

(B) Madhya Pradesh

|C) Kerala

(D) Haryana

(E) Not attempted

What is the limit of the annual turnover
for MSME-Micro enterprises ?

(A) < 8 crores

|IB] = 5 crores

(C) = 10 crores

(D) None of the above
(E) Not attempted

:I

What is the age limit cap for joining
Mukhyamantri Kisan Evam Khetihar
Mazdoor Jeevan Suraksha Yojana in
Haryana ?

(A) 10 years to 60 years

(B) 20 years to 59 years

(C) 15 years to 75 years

(D) None of the abave

(E) Not attempted

-18-

CG - CHS824

T6. FA (x + 1)’ + (y - 3) = 64 F sHiav sify

U o v s w afiesen A B
(A) 64 71 75T
(B) 72 9 =18
(C) 8 &M saré
(D) 128 = 3ars
(E) rsfad

Wi # freffies § A Brm T 3
w=een d A E H 2 7
(A) I T

(B) Hex weH

(C) FTa

By Efm
(E} 3r9aféd

78. UnUHUN-q&w Il F fow arfa wwmEm

79.

Frdm e 7
(A) < 8FIZ
(B) < 5%1%
ey < lﬂiﬁﬁg

(D) 9 # | FS TE
(E) e

giEmn # geadsh frge uE wdE gE
e g dran 3 e 9 % fo 9m
i @ 2 7

(A) 1099 & 60 a9
\ B) 2099 & 59 9

(€) 1598 | 75 a9

(D) 39 # & wré 7
(E) H9=fEa
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80.

81.

| 82.

CG - CHS824

Rty i e e 6

5 __isused in the manufacture | 80,

of paints and lacquers. AR

Al Poly Vinly Chloride (PVC) (A) el famméer =i (i)

(B) Bakelite (B) FHense

iC) Urea formaldehyde resin ey gfem wifefearéz

(D) Glyptal (D) fer=a

(E) Not attempted (B) s

Consider the following statements about | 81. siteiifivs IeaTEA qEwE (yamddt),

index of Industrial Production (IIP), #heamon st 1 Freifefas St @ fBEn

Haryana and choose the right option

gjtrrnbE]DW: ﬁﬁﬁﬁqmmﬁmﬂﬁl

1. The IIP is presently being prepared 1. ssEdt W FAEE | T % i
in the State by the Department of . e
Economic and Statisu!::;:a} Affairs, | YgeE e g s % Fr,
Haryana. EHE 2w 4w o @ R

2. The present base year for 0. TR 1 o o o S AT =
calculation of lIP is 2021-22.

(4] Only the statement 1 is correct 2021-22 % |

(B) Only the statement 2 is correct (A) ¥ FoA 1WA R

(C] Both the statements 1 and 2 are (B) Hae F 2 HE 2

incorrect
(D) Both the statements 1 and 2 are

correct
(E) Not attempted

Which Part of Indian Constitution
deals with the Fundamental Rights ?
(A) Part 1 (B) PartlIl

(C) Part Il (D) Part IV

(E) Not attempted

The word ‘Cigaritis meghamalaiensis’
is related with

(Al Butterfly  (B) Tiger 55

(C) Ant (D) Monkey
(E) Not attempted

-19-

(€) FoA 1 3R 2 &l e &
o] R 1 3 2 G wE E

(E) Fwanfad

g2. A gfaam 1 wA-E W A
iRl 4 Hafta 2 ?
(A) | I (B) ST 11
ey um 1 (D) 9T IV
(E) STSfEa :

83. ‘fymftfea qamaeEeie Wee =
# waftd # |
W (B) 99 *
ey =i (D) &
(E) 3rwaned
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84,

85.

86.

e ---'_-FJTJ
Ir’:'1 o pll
(£ D
A. Z. N, M, O and P are members of a

family. There are two married couples,
N is .a curator and the father of O, P
is the son of the daughter of A, who
is a banker. O is the granddaughter
of Z. who is an architect. There are
two unmarried students in the family,
There is one teacher in the family
and banker is her father. Who is the
husband of M ?

(A) P @
(B) N

(C) Z

D) A

(E) Not attempted

As per the Pradhan Mantri Fasal Bima
Yojana (PMFBY), how much premium
(in percentage) should be paid by the
farmers for the Kharif and Rabi crops
respectively ?

P Y (]

(A) 2% and 1.5% El &
(B) 5% and 2%

(C} 1.5 % and 3%

(D) None of the above

(E) Not attempted

As we go from the equator to the poles,
the value of g

(A) Remains the same

(B) Decreases

(C) Decreases upto a latitude of 45°
(D) Increases

(E) Not attempted

::EI'L{EjN

CG - CHS24

84, A, Z N, M, 0 3R pus afam # geey

21 3 faenfam 12 # | N o gt & i
oHfmR ipAaFFAWan 2, A
R 1 0, 2 F w2, 5 vm wfEr
2 | uftam & 2 sfrafea o # | afam

" uwh fiveres 2 st F 2o a2 1 M
HuaERE? z

(A) P

=)
f
(D) A @,-&-n
(E) syeratfisa O

85, UYHE HHA &\ g (fogusdta)

% ¥ER, @i A = wEel 5 fau
faamat gra s fraar difien (ufaem #)
%1 g e s =t ¢

R 2% 3N 1.5%

LB] 5% 3 2%

(C) 1.5% 3 3%

(D) ¥4 # H wr$

(E) o

. 8- B g @ A ya woam

=hl HH
(A) HHA TEAT 2

LABJ Tz &

(C) 45° F A 7% T2ar 2
(D) #&a1 #
(E) sAwanfaq
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-89,

In which year was National Bank for
Agriculture and Rural Development
(NABARD) established ?

(A) 1999
(B] 1982
(C) 2000

(D) None of the above
(E) Not attempted

How many pairs of ribs are present in
the human body ?

(A) 10

(B) 11

(C) 12

(D) 13

(E) Not attempted

Haryana State Industrial and
Infrastructure Development
Corporation Limited (HSIIDC) was
established in the year

(A) 1967

(B) 1976

(C) 1982

(D) 1994

(E) Not attempted

90.

Some students line up in a queue in
which Ashish stands 15" from the left
and Sachin is 17™ from the right. If
they interchange their places, Sachin
would be 15" from the right. How
many students are there in the queue ?

(A) 21

(B) 22
(C) 29
(D) None of the above A0
(E) Not attempted & sl

87.

wdva Ff st i fmn # (g,
1 zaron e ad 6 nf of 2
(A) 1999

B} 1982

88.

(C) 2000
(D) IdF H # g A

(E) Frafaa
o IR o wEferdt o fRad w2 B 2 2

AT 10

=

89.

(B} 11

) 12

(D) 13

(E) 3wamad

farm fafies (uEvEsmE IS F1 T
fopm ad 28 7

(A) 1967

(B) 1976

(C) 1982

2] 1994

920.

ey 29

(E) 3rwaifaq

TS BE TF FaW 8 @S 7 faad smefm and

H 154 ™A W 2 siw afww ed | 174

=H WA | Al d A gee o, Al

Fﬁqw%ﬁﬁﬁlﬂﬂm|mq

fFram 2 7 '—'—rﬁ*,g‘r

(A) 21 =

28

(B) 22 -———ﬂi}“H
Jgg_,.r

(D) 39dea o | HI§ A

(E) wartaa
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91. Choose
meaningful sentence.

English Language

quite/his/1 )

(A) His performance was quite
impressed with . : .

_4B) | was quite impressed with his

performance,

(C) I with his performance was quite
impressed.

(D) His performance with | was quite
impressed.

(E) Not attempted

92. Choose the correct meaning of the
following idiom and expression.

Open secret.
_AA) Known to all
(B) Of no use
(C) A useless person
(D) Full details
(E} Not attempted

93.
given word sentence.

He said "who is your father” ?
(A) He asked me who was my father.
(B) He asked me that who is your
father.
AC) He asked me who my father was.
(D) He asked me who my father is.
(E) Not attempted

94. Choose the correct spelling of the given

word,

devalop.
L4A) develop

(B) davalap

(C) develup

(D) None of the above
(E) Not attempted

95.

making necessary corrections.
He went there by foot,

“4A]' He went there on foot,
(B) He go there on foot.
(C) He went there in foot. »
(D) He went there for foot.~
(E) Not attempted

the right option to form a

Choose the correct indirect form of the

C_hﬂqae the correct answer after %@
=R =

CG - CH¢

fa= v
9. @' wm e 00 #
2y (A) 3

0]

. (B) Frem

= Eher qureft
(D) FgH
(E) Fnwenfas

97. #fu % fema dz g 7
(A) 2
_iB)
(C) IR
(D) 9=
(E) ImwarfEE
98. RS gmev s FEAE |
Ay U1
(B) 30
(C) Foag
(D) fawfas
(E) Avarfia
‘mY’ g & "t 3 w1 g7 il |
(A) Taft
\+H) Eg
(C) et
(D) JHE
(E) Swamtaa

100. S HfaE & fis, 30 FEd 7
LX) TP
(B) 7R
(C) goht
(D) gHa
(E) wafea
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